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Converting Pounds and Pence

1. Anya has saved £19. In order fo bank the money, it needs Io be sorled info whole:
Pounds. She only has one note and she uses coin bags fo sort the rest of her money.

‘Number of | Number of —
Con | coins | wholegs | ™M e N
Each money bag

100 £ shown below

p lone __note|

— contains whole

% o = pounds made up of
Z coins. the same coin.

£ Anya

Top 20
p lone __note|

S0p and _in

200 coins.

o

Top P

1o lone __note|

S0p and__.

200 coins.

sp
Complete the fable above lo invesfigale fhree different combinalions of pounds she
an create using these money bags. The number of coins in one coin bag is shown.

2. Bryn and Judith are counling their own nofes and coins. When their amounls are
combined, they have less than £30.
Bryn says.
Judith and | have fhe same.
‘amount of money because
we have the same number of
— nofes and coins.
Bryn
Judith says, —_——
I have double the amount of
‘money that Bryn has.
— \ J
Judith

Explore possible solufions lo prove that Judith is comect.
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1a. Complete the amounts fo make them
equal.

1b. Complele the amounts fo make them
equal.
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2a. Circle the amount that will complete

2b. Circle the amount that will complete
the statement.

he stement
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3a. Put these amouns in order from
smallest fo largest.

3b. Put these amounts in order from

£3and 17p

HEISTS

St
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A | g2and120 | B

c.

c
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e
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4a. Complete the conversion fable:

4b. Complete the conversion table:

Poundsandpence | Pence Pounds andpence | Pence
£ andf0p i 5 and30p 2_p
9and__p 3w and__p s
£2and__p s s__andttp Py
£ andaop e fand__p 7

e

|
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1a. Elsa has these coins in her money.
box. Does she have enough money fo
buy a book thai coss £1 and 45p7

Convince me.

1b. Charlie has these coins in his money
box. Does he have enough money fo buy
ayoyo that costs £2 and 12p? Convince.

2a. Helen and Tariq are counting the
money below.

Ithink the coins fofal
£5 and 40p.

J

Helen

Ithink the coins fotal =
5220

Who is comect? Explain why. Tariq

¢

3a. Jack takes a folal of 3 coins from the
piles. How much money could he have?

3b. Emily lakes a fotal of 3 coins from fhe
piles. How much money could she have?

Wiite three possible answers. Wite three possible answers.
‘Wiitien in pounds. p Wiiten in pounds | o
e e | Wit in pence =3 Wiitien in pence
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50. Complele the amounts fo make them
equal.

Sb. Complete the amounts fo make them
equal.

A|__and_ |=| ssap A | g1andsep |= P
5. | e2andasp |= p | |8 |__and__|=| 308
| __and__|=| aszp c p |=| esand17p
w | VY

a. Circle the amount fhat will complefe.

the statement.
£3and Ip

19%p

hg

v

8b. Circle the amount that will complete
the statement.
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Loe

& ¥ T
aop >
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Gtana 25

7a. Put these amouns in order from
smallest fo largest.

7b. Put these amounts in order from
smallestfo largest.

A | s4and39p | B

A | gbandsep | B.| 593

SEIIIIIYY

<[@OLCLLBe
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8a. Complefe the conversion fable:

8b. Complete the conversion table:

Pounds andpence | Pence Pounds andpence | Pence.
£1and a7p ® Eand 77 »
__and__ 995p _and__ 795
Stand 13p ® £2and 135 »
_and seap _and_ 24p
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4. Sam has this nofe and these coins in
his pocket. Does he have enough money

4b. Priya has this note and these coins in
her pocket. Does she have enough
money fo buy a DVD that cosis £6 and
5997 Convince me.

Sa. Vince and Violet are converfing 583p

Sb. Belle and Andy are converling 506p

into pounds and pence. inlo pounds and pence.
They say.

L — ' J—

aa

Vince

e @) e @

Who s comect? Explain why.  Viole! | Who is comect? Explain why.

¢ .

h7g .

6a. Molly has 4 different coins in her
purse: fhree siiver coins and one £2 coin.

How much money could be in her purse?
Wiite three possible answers.

8b. Yuvi has 4 coins in his wallet, a £1
‘coin; @ 10p coin and two ofher coins.

How much money could be in his wallet?
Wie fhree possible answers.
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9a. Complele the amounts fo make them
equal.

9b. Complete the amounts fo make them
equal.

Two £5 notezand | = - [Seven 1 coins and]

A | Maspcoms | = and. Al —— | =["Gnespcans
= [Fowszcomsana Six£2 cons and

B —— || seventopooms | | B and. tweive 2p coins
= [Nine 50p coins and] Two £5 notes and | = -

C | ——"——|= [seven2pcoins | | S | “ve sop coins rd—|

B ]

% ]

10a. Circle the amount that will complete
the statement.

106 Circle the amount that will complefe.
the staement.

f ~ (s =
S S0P oM. || veive Sp. coins, one.

el v | s

e Wl

(Sight 1p con) coins___/ | one 20p coin

S and £3and

¢y T < R L -

Tla. Put these amouns in order from
largest fo smallest.

TTb. Put these amounts in order from.
largest fo smallest.

A

Wone E2 coms
Thvee £5 notes

|ond sx 20p coins| 8- a7 A sssp. . | and g iop
. [seventots o1 cais. ve 50p coins ane | | . [ome £10 note, six £1 coins. seven 20p coind
- £2 coin and eight 1p coins - ‘and twelve 2p coins

b4

e .

12a. Complete the conversion lable:

12b. Complefe the conversion fable:
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7a. Josh wants fo buy a game that costs
£17 and 84p. He wiles down the noles
and coins he has. Does he have enough
Convince me.

7b. Lily wants fo buy some headphones,
that cost £19 and 49p. She writes down
the notes and she has. Does she have
‘enough? Convince me.

One £10 note, five £1

coins, four 50p coins, six

20p coins and three 2p
coins.

Two £5 notes, four £2
coins, five 10p coins, ten
5p coins and nine 1p
coins.

#

*

8a. Liam and Dina are converfing fwo lofs

of £6 nofes, seven £1 coins and eleven

8b. Archie and Huma are converling fen
£1 coins, three lofs of £2 coins and seven

10p coins info pounds and pence. 20p coins info pounds and pence.
They say,
N
hink the fofal =
£17 and 40p
J
Archie
Ihink the fofal = Ihink is greater than £19
flgand10p. ‘and 40p.
Who is comect? Explain why. Huma
9. Eiot has one £5 nofe and four b, Becky has one £5 nofe and four coins

different coins in his money box. At least
one coin s bronze.

How much money could be his money
box? Wiite four possible answers.

in her money box. Two of the coins are
siver.

How much money could be in her money
box? Write four possible answers.

Wiien n pounds and

Witen n pence.
pence.

Witen n pounds and

Wetenin pence.





